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1.1

1.1.1 lrf;:_+l}=ﬁ (3)
112 x* -5x=—b (3)
1.1.3 5%+ 5% =30 (3}
1.4 2=x=x4+4 (3)
1.2 Solve for x and ¥ simultaneously if:
2x=y+2 and 2x*=2-y* (@)
1.3 Prove that the equation 6x” + 2 pr = Xxr = p =0 has rational roots for all
rational values of p. (4)
[22
Duestion 2
2.1 Simplify: downloaded frrom stanmorephysics.com
e
2.1.1 e (4)
212 Y3 4 Yeax” (3)
2.1.2 \ll'i[lw.'li+1."g_]+ N2 {Answer in simplest surd form) {3
[10]
Cluestion 3
3.1 I cos 23%= p, express, without the use of a caleulator, the following in terms of g
301 cos 203° (3]
3.1.2 sin 2937 (33

Cruestion 1

Solve for x in each of the following:
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12 Simplify the following expression to a single trigonometric term

__sinl360° — 2 tani—x) )
cos(180° + x).(sin * A + cos” A) (&)

33 In the diagram alongside P is
the point {c ; 24). ¥

B is the angle of inclination of OF. .

OF = 25 units N

331 Caleulate the numerical value of ¢, (2)
132 Determine, without using a calculator, the valve of:
ia) sin@ ()
{b) tan (180°+ &) {2)
[18]
Question 4

4.1 In the diagram. O is the centre of the circle. The diameter DE is
perpendicular to the chord PQ at C. DE = 20 cm and CE = 2 cm,
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'e:

Y]
D
Calculate the length of the following with reasons:
4.1.1 Oc {3)
412 PQ 4]
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4.2 In the diagram below, O is the centre of circle EBL.

[f B is & tangent 1o the circle, then: [_)E_CE ‘_E_

(6]
4.3 In the diagram below B is a diameter of the circle. BA §l CD. AE= ET¥ and
BOC = 60° Calculate, stating reasons, the size of the following angles:
331§ 4:3‘}
332 E (3)
333 E {3)
334 0, (3)
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